Practice 07 quantum model – electron configurations
1. What is an atomic orbital?

2. What is the significance of the boundary of an electron cloud?

3. How many orbitals are in the 2p sublevel?

4. Sketch 1s, 2s and 2p orbitals.

5. How  many sublevels are contained in each of these principal energy levels? 
a) n =1    b) n=3   c) n=4

6. What are the three rules that govern the filling of atomic orbitals by electrons?
7. Arrange the following sublevels in order of increasing energy.
  3d,  2s, 3p, 4s.

8. What is the maximum number of electrons that can go into each of the following sublevels?
a. 2s           b. 3p             c. 4s                 d. 3d              g.4f
9. What is meant by 3p3 ?

10. How many electrons are in the highest occupied level of an atom of each element? 
a. Chlorine                   b. Phosphorous                      c. Potassium 


11. Write the electron configuration for atoms of the following elements:
a.  Argon
b.  Silicon
c.  Iron
d.  Sodium
e. Hydrogen
f. Fluorine
h. Zinc
i. Sulfur
12. Write the electron configuration for the atoms whose atomic number are:

a. 2     b.  13     c.  20     d.  15   e. 21
